M ox
40 5 4

A FSR PN ES A RN =
P AGAE ZEHNL(REXXENL /XA
HEPNR=:rag =D k=

- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2

A2 M= 456,284,761 422,854,288 33,430,473
= 188,226,744
Xl 90,612,000
< 157,446,017
T 20,000,000

XS & Al Dt 31,712,112 32,427,835 AT715,723
= 2,000,000
Xl 26,040,000
< 3,672,112

KNAME RENL(FELNINL/NSLEZAI) 31,652,327 32,367,050 AT14,723
= 2,000,000
Xl 26,040,000
< 3,612,327

ANz N 31,652,327 32,367,050 AT14,723
= 2,000,000
Xl 26,040,000
=) 3,612,327

HAXNY NLEXRFP S2HME(=22) 8,894,000 9,857,000 A 963,000
Xl 8,894,000

403 XIS E X201 H 8,894,000 9,857,000 A 963,000
Xl 8,894,000

01 X SN2 2= 8,894,000 9,857,000 A 963,000
OMNEEXRXF =244 8,894,000
Xl 8,894,000

F2CIXe Arg =& 246,000 316,000 A70,000

201 Let24d| 6,000 16,000 210,000

01 At 22/l 6,000 16,000 A 10,000
of3as M 6,000
O3y dxz 3,000
Od1z & IMx=E S 3,000

202 Odl 10,000 0 10,000

01 = LH 4 Hi 10,000 0 10,000
oZaLI XNE=EH 10,000

403 XIS E X201 & 230,000 300,000 A70,000

01 X S22 = 230,000 300,000 A70,000
OZ&CIX2 S2AY 230,000

HoaceRsd SFXNE NFMHL(=2) 13,500,000 10,000, 000 3,500,000
Xl 13,500,000

403 A X EHHS =0l A 13,500,000 10,000, 000 3,500,000
Xl 13,500,000

01 X SHHA2E= 13,500,000 10,000, 000 3,500,000
OLAUHEsH EF3XNNYE E2X& 13,500,000
Xl 13,500,000
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A= ALYUH= 2M NG ZAID
H: JAAS PENL(2ELXNINL/ASLEAI
Sl NRENY el E)
AR RN FH - G(8H) - MEAY il HImEET
AEEZA & ZHHEE = 189,827 214,481 A 24,654
201 £B-2d| 55,827 58,100 A2,273
01 At 22l 55,827 58,100 AN2,273
OXNIEZA=Z0F ?&S 294 52,127
OAIZEHS i 1,200
O=EnNSEHZ 2A 2 2,500
202 O4dl 64,000 66,381 N2,381
01 = LH o4 4l 15,000 17,381 A2,381
OXSIHLAE=E & SR =0 15,000
04 2 H 304l 49,000 49,000 0
OEA & X9 A& AHZ 10,800
OFH&ed e dixord 8,000
OEXZelge #XoH 8,200
OH&ZE)zs ¥ WS23EY 12,500
OH&THL & & IH=20F BIXI0F 9,500
203 ¥ S =&l 70,000 80,000 A 10,000
03 AIMF=AH R =AH| 70,000 80,000 A 10,000
OAHETAl BSEAHEZ 40,000
OHEuSEE AH®FH 20,000
OXNAZE ML AlHZA 5,000
O=Egged AHMFX 5,000
SAAEZEEMAPIS) 2E(=21) 500,000 300,000 200,000
= 200,000
< 300,000
207 RO 400,000 0 400,000
= 100,000
< 300,000
02 ™ AR I 400,000 0 400,000
OZAIHEHEMAH(UPIS) = 400,000
= 100,000
< 300,000
403 Mt SHHSA=0l& 100,000 300,000 200,000
= 100,000
01 HXSHMA=E X 100,000 300,000 200,000
OSAMAEHFEMA(UPIS) =5 100,000
= 100,000
HEGID Helg TASFEEZL X2 14,500 17,017 N2,517
202 o4dl 14,500 17,017 N2,517
01 = LH o4 1l 14,500 17,017 N2,517
OENESYER =& 4,500
OZAIAE & HeEHR =& 10,000
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A= HAY=2 SN @ XY Al
Hz: XGAS ZENL(2ELXNIMNL/XNAL T Al
Sl KB ENY (29l & 2)
- _ _ RE]
AT SA B O (3H) - MEAY - BES Ol At 04 gﬁ‘&i HR=2
WESHD TS TAEE =4A 2,215,000 1,790,000 425,000
403 XX SHS K20 & 2,215,000 1,790,000 425,000
01 XIS AS2E X 2,215,000 1,790,000 425,000
OZANHEETZ HE & WA 2,215,000
HE0l AN 2D AN JHE 35,000 44,800 A 9,800
201 LBt ]| 25,000 34,800 A 9,800
01 AP 22| H| 25,000 33,000 A 8,000
OB TOl AL HI| SAI EE 25,000
308 AMXISHMSOIA 10,000 10,000 0
01 X HHIMNEEXTZ 10,000 10,000 0]
OYZ0l AtAZ 2] A EEX 10,000
23 AN A sHAF I = 22,000 22,000 0
201 et d| 22,000 22,000 0
01 A2t 2| bl 7,000 7,000 0
O NEH WX HAI EE 7,000
03 Al AHH| 15,000 15,000 0
O3 XN&EH HE X AL =& 15,000
22 2EHN = 90,000 90,000 0]
308 MXISHMSOIA 90,000 90,000 0
01 AXHHIMNEEXTZ 90,000 90,000 0
OXLJNZ2ZEHNH HE - AS XM 2ets i = 90,000
CAEEZKRXNYG SAMAINX HEAIS (2D) 3,134,000 3,857,000 A 723,000
Xl 3,134,000
403 XX SHHS K20 & 3,134,000 3,857,000 A 723,000
Xl 3,134,000
01 XIS A2E X 3,134,000 3,857,000 A 723,000
OZA AKX THAM L J=MEI L &= 3,134,000
N 3,134,000
HATEXRA HLASE(=2D) 512,000 595,000 A 83,000
Xl 512,000
403 XX SHHS K20 & 512,000 595,000 A 83,000
Xl 512,000
01 XIS A=Z2E X 512,000 595,000 A 83,000
OEE=EXNRYE 2K 512,000
Xl 512,000
SATHA MEAIH(Z21D) 1,800,000 0 1,800,000
= 1,800,000
403 XX SRS K 20| & 1,800,000 0 1,800,000
= 1,800,000
01 MXHHXE2E =X 1,800,000 0 1,800,000
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